
Как под7ото6итPEя к Dода<: Eо6етO и Dеко<е=дации 

      

�од7ото6к4 к Dод4< — од8= 87 E4<KE от6етEт6е==KE Mт4по6 5еDе<е==оEт8. �=о7ое DеH4ет 
=4EтDо9 5удуIе9 <4<K, ее пE8Eоло78GеEкое Eпоко9Eт68е 8 D878GеEк4O DоD<4.  4EEк47K64е<, к4к 
под7ото68тLEO к Dод4< 8 Gто 67OтL E Eо5о9 6 Dод8лL=K9 до<. 

 

 

Ф878GеEк4O под7ото6к4 к Dод4<: поддеD6864е< DоD<у 

�Dе<е=4, ко7д4 доктоD4 74пDеI4л8 6е=I8=4< лN5уN 4кт86=оEтL, д46=о уHл8 6 пDоHлое.  еH4O 
6опDоE, к4к 7ото68тLEO к Dод4<, 5удуI8е <4<K пDодол64Nт 74=8<4тLEO пD86KG=K<8 68д4<8 
EпоDт4 — пл464=8е<, D8т=еEо<, 9о7о9. � у<еDе==KE о5Jе<4E 8 6 отEутEт688 пDот86опок474=89 
D878GеEк8е =47Dу7к8 =е по6DедOт, 4, =4о5оDот, по<о7ут EоED4=8тL <KHFK 6 то=уEе до ко=F4 
5еDе<е==оEт8. 

 

  

�D8 под7ото6ке к Dод4< <о6=о: 

 

дел4тL ле7к8е D4EтO6к8; 

74=8<4тLEO 9о7о9, 8EклNG86 4E4=K =4 EкDуG864=8е 8 у5D46 =47Dу7ку E <KHF 686от4; 

дел4тL упD46=е=8O =4 укDепле=8е <KHF т474 8 Eп8=K; 

Eо6еDH4тL дл8телL=Kе пDо7улк8; 

пл464тL 6 54EEе9=е. 

От MкEтDе<4лL=KE D476леGе=89 пD8детEO отк474тLEO. �е Dеко<е=дуетEO 6о 6Dе<O 5еDе<е==оEт8 
к4т4тLEO =4 6елоE8педе, дел4тL упD46=е=8O =4 пDеEE 8 длO поEуде=8O, под=8<4тL тO6еEт8. 

 

�л46=ое пD468ло длO 5удуIе9 <4<K: 74=8<4тLEO <о6=о толLко пD86KG=K< 68до< EпоDт4! 
�4пD8<еD, еEл8 6K 5е74л8 до 5еDе<е==оEт8 – пDодол649те, =еEколLко E=8786 =47Dу7ку. ! 
у6ел8Gе=8е< EDок4 5еDе<е==оEт8 – пеDеEод8те =4 пеH8е пDо7улк8. А 6от еEл8 6K =8ко7д4 =е 
5е74л8 D4=LHе 8 т4к4O =47Dу7к4 длO 64E =епD86KG=4 – =е Eто8т =4G8=4тL. �одо6д8те, пок4 
<4лKH4 Dод8тEO, д49те Eе5е 6Dе<O =4 6оEEт4=о6ле=8е – 8 толLко то7д4 6KEод8те =4 пеD6уN 
пDо5е6ку. 

�D86KG=4O 74DOдк4 поле7=4 длO <4<K 8 <4лKH4, 6едL D878GеEк8е упD46=е=8O EпоEо5Eт6уNт 
к8EлоDод=о<у =4EKIе=8N тк4=е9. К то<у 6е тDе=8Dо64==4O 6е=I8=4 ле7Gе пеDе=еEет DодK, 4 
Dе7улOD=Kе тDе=8Dо6к8 по<о7ут е9 EоED4=8тL DоD<у. 

 

�E8Eоло78GеEк4O под7ото6к4 к Dод4<: 74п8EK64е<EO =4 куDEK длO 5удуI8E Dод8теле9 

�олуG8тL ко=EулLт4F88 EпеF84л8Eто6 8 6KEтDо8тL пл4= под7ото6к8 к Dод4< тепеDL оGе=L пDоEто 
— =у6=о л8HL 74п8E4тLEO =4 EпеF84лL=Kе 74=Oт8O длO 5еDе<е==KE, котоDKе =4G8=4NтEO Eо 



6тоDо7о тD8<еEтD4. Это <о7ут 5KтL куDEK, оD74=87о64==Kе пD8 6е=Eко9 ко=EулLт4F88, 8л8 
G4Eт=Kе уDок8. �4 =екотоDKе 87 =8E <о6=о Eод8тL 6<еEте E п4Dт=еDо<. 

 

Cо6ет 

Ко7д4 6е=I8=4 7ото68тEO к Dод4<, е9 646=о =49т8 пDепод464телO, котоDо<у о=4 до6еDOет, 8 
то7д4 =4 74=Oт8OE о=4 5удет Gу6Eт6о64тL Eе5O D4EEл45ле==о 8 ко<DоDт=о. 

�4=Oт8O длO 5еDе<е==KE по<о7ут у7=4тL: 

 

К4к уE46864тL 74 <4лKHо<? 

К4к EтDо8тL Dе68< д=O <л4де=F4? 

� к4к8е G4EK 8 к4к е7о коD<8тL? 

!колLко 6Dе<е=8 о= дол6е= пDо6од8тL =4 E6е6е< 6о7дуEе? 

К4к куп4тL Dе5е=к4? 

�4=Oт8O оGе=L 8=DоD<4т86=K, 8 =4 =8E <о6=о полуG8тL от6етK =4 6Eе E6о8 6опDоEK. 

 

  

КDо<е пD468л уEод4 74 <4лKHо<, =4 74=Oт8OE о5O74телL=о D4EEк46ут, к4к 6е=I8=е 7ото68тLEO к 
Dод4<: 

 

К4к уE46864тL 74 тело<, Gто5K поEле 5еDе<е==оEт8 8 Dодо6 =4 ко6е =е поO68лоEL D4EтO6ек? 

� к4ко9 по7е луGHе =4Eод8тLEO 6о 6Dе<O EE64ток 8 Dодо6? 

К4к =4уG8тLEO пD468лL=о<у дKE4=8N, котоDое по<о6ет E5еDеGL E8лK? 

К4к <4EE8Dо64тL поOE=8Fу 8 плеG8 Dо64NIе9 6е=I8=е? �4 74=Oт8OE о5уG4т =46Kк4< 
E4<о<4EE464. А еEл8 6K пл4=8Dуете п4Dт=еDEк8е DодK – D4EEк46ут, Gе< <о6ет по<оGL EупDу7 8л8 
дDу7о9 DодEт6е==8к. 

К4к E=878тL 5оле6Kе оIуIе=8O 6 Dод4E? К4к8е EуIеEт6уNт =е<ед8к4<е=то7=Kе <етодK? К4к 
о5ле7G8тL EоEтоO=8е до пD8е7д4 EкоDо9 по<оI8 8 =епоEDедEт6е==о 6 Dод8лL=о< 74ле? 



!ледует л8 пD8<е=OтL о5е75ол864NI8е пDеп4D4тK, 8 к4к8е EуIеEт6уNт пDот86опок474=8O? 

К4к8< 5удет пеD6ое коD<ле=8е <4лKH4? 

О5о 6Eе< Mто< <олодK< Dод8телO< D4EEк46ет EпеF84л8Eт =4 74=Oт8OE. 

 

'G8<EO дKH4тL пD8 под7ото6ке к Dод4< 

О5уGе=8е пD468лL=о<у дKE4=8N – од8= 87 E4<KE 646=KE Mт4по6 под7ото6к8 к Dо6де=8N 
Dе5е=к4. ЛуGHе дел4тL Mто под пD8E<отDо< EпеF84л8Eт4 – о= D4EEк46ет, к4к дел4тL 6доE 8 6KдоE, 
ко7д4 74деD6864тL дKE4=8е, 8 ED47у ук46ет =4 оH85к8. �о6=о =49т8 8 о5уG4NI8е уDок8 6 

8=теD=ете, =о полL7K от =8E 5удет <е=LHе. 

 

�D468лL=ое дKE4=8е <о6ет EуIеEт6е==о о5ле7G8тL пDоFеEE Dодо6. !E64тк8 Eт4=ут <е=ее 
5оле7=е==K<8, 4 <4лKH 6о 6Dе<O D4EкDKт8O <4тк8 полуG8т =ео5Eод8<ое кол8GеEт6о к8EлоDод4. 

 

&Dе=8Dо64тL дKE4=8е пD8 под7ото6ке к Dод4< луGHе =4G8=4тL 74D4=ее — 74 =еEколLко <еEOFе6 
до =47=4Gе==о9 д4тK.  о6=Kе 7лу5ок8е 6доE8 8 6KдоE8, пол=оEтLN 6K6одOI8е 6о7дуE 87 ле7к8E, 
по<о74Nт 6о 6Dе<O 8=те=E86=KE EE64ток, 4 6 пеD8одK <е6ду =8<8 дKH4тL =у6=о Eпоко9=о, к4к 
6о E=е. �D468лL=ое дKE4=8е о5ле7G8т 8 EоEтоO=8е <4лKH4, 6едL е<у то6е пD8детEO 8EпKт4тL 
6еEL<4 =епD8Oт=Kе оIуIе=8O. 

�о 7л46=ое — =е теDOтL опт8<87<4 8 E4<оо5л4д4=8O: EкоDо <4ле=Lк89 Gело6еGек поO68тEO =4 
E6ет, 8 6Eе =епD8Oт=Kе оIуIе=8O оEт4=утEO по74д8. 

 

�ото68<EO к Dод4< 8 8Iе< 8=DоD<4F8N 

�о 6Dе<O под7ото6к8 к Dод4< Eто8т потD4т8тL 6Dе<O =4 полуGе=8е 547о6о9 8=DоD<4F88, 
E6O74==о9 E 6оEп8т4=8е< <4лKH4, е7о Mт4п4<8 67DоEле=8O, оE=о64<8 7Dуд=о7о 6Eк4D<л864=8O. 
'7=4тL 6Eе E4<ое 646=ое <о6=о =4 EпеF84лL=KE куDE4E 8л8 87 о5уG4NIе9 л8теD4туDK. �о6=о 
т4к6е =49т8 =4Eт46=8Fу EDед8 Eт4DH8E 6е=I8=, у котоDо9 у6е еEтL дет8. 

 

�о 6Dе<O 5еDе<е==оEт8 т4к6е <о6=о 74=OтLEO Eо558, о котоDKE 6K д46=о <еGт4л8. Кул8=4D8O, 
Dото7D4D8O, 6KH864=8е 8л8 декуп46 — 6Eе то, Gто 6K 6DOд л8 E<о6ете Eе5е по76ол8тL поEле 
Dо6де=8O <4лKH4. К4к пD468ло, 6Dе<O =4 Eо558 поO6лOетEO у 5удуIе9 <4<K поEле 30 =еделL – 

ко7д4 о=4 уEод8т 6 декDет=K9 отпуEк. � Mто =е пDоEто D476леGе=8е, 4 646=K9 6кл4д 6 E6ое 



пE8E8GеEкое 7доDо6Lе. !поко9Eт68е 8 удо6лет6оDе==оEтL 687=LN 87D4Nт клNGе6уN DолL 6 
E4<оGу6Eт688 6е=I8=K, котоD4O 74=Oт4 под7ото6ко9 к Dод4<. 

 

!о58D4е<EO 6 Dоддо<: Gто 67OтL E Eо5о9 пD8 под7ото6ке к Dод4<? 

�4 =еEколLко =еделL до пDедпол474е<о9 д4тK пD87ото6Lте 6Eе 6еI8, котоDKе 6K 6о7L<ете E 
Eо5о9. �о<=8те, Gто луGHе Eо5D4тL «<4<8= Gе<од4=G8к» 74D4=ее, Gто5K 6 тот <о<е=т, ко7д4 
EE64тк8 Eт4=ут оIут8<K<8, =е пD8HлоEL 5K 5е64тL 6 4птеку 8л8 EпеH=о 8Eк4тL доку<е=тK. 

 

  

�от Gто о5O74телL=о =у6=о 67OтL 6 Dоддо< пD8 под7ото6ке к Dод4<: 

 

�оку<е=тK: п4EпоDт, пол8E О�!, о5<е==4O к4Dт4, Dодо6о9 EеDт8D8к4т 8, пD8 =4л8G88, до7о6оD E 
<ед8F8=Eк8< уGDе6де=8е< =4 пл4т=Kе DодK. ОGе=L G4Eто EупDу78 отпD46лONтEO 6 Dоддо< 6<еEте 
— 8 6 Mто< EлуG4е 5удуI89 п4п4 дол6е= 67OтL Eо5Eт6е==K9 п4EпоDт 8 тDе5уе<Kе <ед8F8=Eк8е 
EпD46к8 длO пD8EутEт68O =4 Dод4E. 

Л8G=Kе 6еI8: =епDо<ок4е<Kе т4поGк8, E4л4т, EоDоGк4 длO E=4, E<е=4 5елLO. � =екотоDKE 
Dод8лL=KE до<4E 6Kд4Nт E6оN оде6ду, =о =у6=о утоG=8тL Mтот 6опDоE 74D4=ее. 

�Dед<етK 7878е=K: 78=еколо78GеEк8е поEлеDодо6Kе тDуEK, поEлеDодо6Kе пDокл4дк8, <Kло, 
7у5=уN Iетку 8 7у5=уN п4Eту, кDе< длO уEод4 74 EоEк4<8 8 пDот86 тDеI8=. 

�еI8 длO <4лKH4: H4поGк4, =оEоGк8, под7у7=8к8. � =екотоDKE Dод8лL=KE до<4E 6Kд4Nт пеле=к8 
8 D4Eп4Hо=к8 длO <4лKH4, 6 дDу78E =у6=о пD8=еEт8 E6о8. 

�D8 6Kе7де 6 Dоддо< – =е 745KтL <о58лL=K9 телеDо= E 74DOд=K< уEтDо9Eт6о<. 

 

ОтделL=о Eто8т пD87ото68тL п4кет 6еIе9 =4 6Kп8Eку. � =е< дол6=4 5KтL оде6д4 длO <4<K по 
Eе7о=у. �о<=8те, Gто 74 де6OтL <еEOFе6 5еDе<е==оEт8 64H4 D87уD4 87<е=8тEO, 8 ED47у поEле 
Dодо6 6K =е E<о6ете 6еD=утLEO 6 пDе6=NN DоD<у. �оMто<у попDоE8те EупDу74 8л8 Dод=KE 
пD8=еEт8 =4 6Kп8Eку E6о5од=уN оде6ду, котоD4O тоG=о подо9дет 64< по D47<еDу. �лO <4лKH4 
<о6=о пD8о5DеEт8 ко<плект =4 6Kп8Eку — кD4E86ое одеOлLFе 8л8 ко=6еDт, тD4д8F8о==о 
пеDе6O74==K9 ле=т4<8. 

 

�од7ото6к4 к Dод4< – у6лек4телL=K9 пDоFеEE, по<о74NI89 5удуIе9 <4<е =4EтDо8тLEO =4 
пDедEтоOIуN 6EтDеGу E <4лKHо<, о5DеEт8 Eпоко9Eт68е 8 у6еDе==оEтL 6 Eе5е. �Eл8 Gто-то к46етEO 
=епо=Oт=K< 8 6о7=8к4Nт Eо<=е=8O, Eто8т пDоко=EулLт8Dо64тLEO E 6D4Gо<. 


